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Introduction

1.1

Objectives
Public Transportation System(0|3t PTS)2| ZEHQ AHZ I3 2 L+HE unit testE

2
HYBICE Unit test= PTSS| HAEHRY|, X|SHEEHZZ| 81 FLA[ARO 37kX] A|AEOf
CHoff =EXZ HADICE B unit teste A|2" SEE 25 2% &3a 7|&0

—

CHol Felotn HAE =50 2ot MEAILS FAIBCH

1.2 References
T3.2014.PTS.SRA
T3.2014.PTS.SDS
2 Unit test case specification
2.1  Test case specification identifier
<BUS&SUBWAY > Test case ldentification
Identifier Input Specification Output Specification
PTS_UTC_000_000 Unarranged_data[2] = Arranged_dataZ]
{20141117195032, "BUS", "OUT", 5950, “B_1"}, In == True
{20141117195035, "BUS", "IN", 5950, "B_2"}
PTS_UTC_000_001 Unarranged_data[2] = Arranged_dataZ]
{20141117195032, "BUS", "OUT", 5950, “B_1"}, Bus == True
{20141117195035, "BUS", “IN", 5950, "B_2"}
PTS_UTC_000_002 Unarranged_data[2] = Arranged_dataZ2|
{20141117195032, "SUBWAY", “IN", 5950, "S1_1"}, Trans == True
{20141117195035, "SUBWAY", "OUT", 5950, “S2_2"}
(and OFX|S} EJA|ZFO] SAXHA|ZL 152 0]LY)
PTS_UTC_000_003 Unarranged_data[2] = Arranged_dataZ]
{20141117195032, "SUBWAY", "OUT", 5950, "S1_1"}, | After == True
{20141117195035, "BUS", “IN", 5950, "B_1"}
PTS_UTC_000_004 Unarranged_data[2] = Arranged_dataZ]
{20141117195032, "SUBWAY", "OUT", 5950, “S1_1", | Uncal_day == True
{20141117195035, "BUS", “IN", 5950, "B_1"}
0|11 StE(3&)7t XIS
PTS_UTC_000_005 Unarranged_data[2] = Arranged_dataZ2|
{20141117195032, "SUBWAY", “OUT", 5950, “S1_1"}, | Uncal_s == True
[EIAE o) 000 Team 3
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{20141117195035, "SUBWAY, “IN", 5950, “S1_2"}

PTS_UTC_000_006

Unarranged_data[2] =
{20141117195032, "BUS", "OUT", 5950, “B_1"},
{20141117195035, "SUBWAY, “IN", 5950, “S1_2"}

Arranged_data2|

Uncal_bs == True

PTS_UTC_000_007

Unarranged_data[2] =
{20141117195032, "SUBWAY", “OUT", 5950, “B_1"},
{20141117195035, "BUS, “IN", 5950, “S1_2"

Arranged_data®|

Uncal_sb == True

PTS_UTC_000_008

Unarranged_data[2] =
{20141117195032, "BUS", "OUT", 5950, "B_1"},
{20141117195035, "SUBWAY, “IN”, 5950, “S1_2"}

Arranged_data®|

Uncal == True

PTS_UTC_000_009

Unarranged_data[2] =

Arranged_data2|

{20141117195032, "BUS", "OUT", 5950, “B_1"}, Time ==

{20141117195035, "SUBWAY, “IN", 5950, “S1_2"} 20141117195035
PTS_UTC_000_010 Unarranged_data[2] = Arranged_dataZ]

{20141117195032, "BUS", "OUT", 5950, “B_1"}, Lo == 5950

{20141117195035, "SUBWAY", “IN”, 5950, "S1_2"}

PTS_UTC_000_011

Unarranged_data[2] =
{20141117195032, "BUS", "OUT", 5950, "B_1"},
{20141117195035, “"SUBWAY", “IN", 5950, “S1_2"}

Arranged_data2|
Info == S1.2

PTS_UTC_001_000

Unarranged_data[2] =
{20141119133000, “,SUBWAY", “IN", 10000, “S1_1"},
{20141119133010, “SUBWAY, “OUT", 10000, “S2_1"}

RidingEnable®t 4

SE

PTS_UTC_001_001

Unarranged_data[2] =
{20141119133000, “SUBWAY", “IN", 10000, “S1_1"},
{20141119133010, "SUBWAY", "OUT", 200, “S2_1"}

ridingDisable® =

D=

PTS_UTC_001_002

Unarranged_data[2] =

{20141119133000, ",SUBWAY", “IN", 10000, "S1_1"},
{20141119133010, "SUBWAY”, “OUT", 10000, “S2_1"}
(and OFX|9 EHTIA|ZFDH SHTYAIZHO] 15 OfLH)

transferEnablegt %=

SE

PTS_UTC_001_003

Unarranged_data[2] =
{20141119133000, “,SUBWAY", “IN”, 10000, “S1_1"},
{20141119133010, “"SUBWAY", "OUT", 100, “S2_1"}

transferDisablegf %=

SE

PTS_UTC_001_004

Unarranged_data[2] =
{20141119133000, “BUS", "OUT", 10000, “B_1"},
{20141119133010, “BUS,” “IN”, 10000, “B_2"}

normalExitgts =

PTS_UTC_001_005

Unarranged_data[2] =
{20141119133000, “SUBWAY", “OUT", 10000, “S1_1"},
{20141119133010, “BUS,” “IN”, 10000, “B_2"}

afterTransExit & 4=

D=
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PTS_UTC_001_006

Unarranged_data[2] =
{20141119133000, “BUS", “OUT", 10000, “B_1"},
{20141119133110, "SUBWAY" “IN", 10000, “S1_2"}

afterSub_ES8t+ =&

PTS_UTC_001_007

Unarranged_data[2] =
{20141119133000, “BUS", “OUT", 10000, “B_1"},
{20141119133110, “SUBWAY" “IN", 100, “S1_2"}

fot

afterSub_ D&%

=

=

PTS_UTC_001_008

Unarranged_data[2] =
{20141119133000, "SUBWAY”, “OUT", 10000, “S1_1"},
{20141119133010, "BUS" “IN", 10000, "B_2"}

fot

afterSubus_E&f

=

=

PTS_UTC_001_009

Unarranged_data[2] =
{20141119133000, “SUBWAY", “OUT", 10000, “S1_1"},
{20141119133010, "BUS" “IN", 100, “B_2"}

afterSubus_DgH4=

°E

PTS_UTC_001_010

Unarranged_data[2] =
{20141119133000, “BUS", “OUT", 10000, “B_1"},
{20141119133010, “SUBWAY" “IN", 10000, “S1_2"}

afterBusub_E&H4=

SE

PTS_UTC_001_011

Unarranged_data[2] =
{20141119133000, “BUS", “OUT", 10000, “B_1"},
{20141119133010, “SUBWAY" “IN”, 100, “S1_2"}

afterBusub_ D&~

SE

PTS_UTC_001_012

Unarranged_data[2] =
{20141119133000, “BUS", "OUT", 10000, “B_1"},
{20141119133110, “"SUBWAY" “IN”, 10000, “S3_2"}

—_

addFee’t+ =

=

=

PTS_UTC_001_013

Unarranged_data[2] =
{20141119133000, “BUS", "OUT", 10000, “B_1"},
{20141119133110, “"SUBWAY" “IN”, 10000, “S4_2"}

noAddFee N

S=E

PTS_UTC_001_014

Unarranged_data[2] =

addFeeOne&

=

{20141119133000, "BUS”", "OUT", 10000, “B_1"}, =
{20141119133010, "SUBWAY" “IN", 10000, "S4_2"}

PTS_UTC_001_015 | Unarranged_data[2] = addFeeTwodt =
{20141119133000, "BUS", “OUT", 10000, “B_1"}, =

{20141119133010, "SUBWAY" “IN”, 10000, “S3_2"}

PTS_UTC_001_016

Unarranged_data[2] =
{20141119133000, “BUS", "OUT", 10000, “B_1"},
{20141119133010, “SUBWAY" “IN", 10000, “S5_2"}

noAddFee T2l =

=
=

PTS_UTC_002_000

Arranged_data
time=20141117195035,
in=0, bus=1,

uncal_s=0

{cname[20]="input.txt",
info[10]=B_2, lo=5950,
after=0, uncal_day=0,

trans=0,
uncal_bs=0

uncal_sb=0 uncal=0, sta=0}

Display_command
(fee=1050, lo=4900)
Writing command
{fee=1050,
time=20141117195
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o ad= 2Ol A= B2 udd
{20141117195032, "BUS", “IN", 5950, "B_1"},
{20141117195035, “BUS, "OUT", 5950, "B_2"}

035, vechicle="BUS",

inout="IN",
lo=4900,
readerinfo="B_1",
cardinfo="B_1",

name="input.txt"}

PTS_UTC_003_000 | &ele| ZIEEET} EH7l BHIAETA

unarranged_data(=l

AETIYY I1Y

ol £&)

<Calculator> Test case Identification

Identifier

Input Specification

Output Specification

PTS_UTC_004_000

Bus.txt, subwayl.txt, subway?2.txt, subway3.txt,
subway4.txt, subway5.txt

Inputdata.txt

PTS_UTC_005_000

Inputdata.txt

un_trans.txt, un_bus.txt,

un_sub.txt

1=

2.2  Test items
- 2.19| Test case Identification &=
2.3 Input specifications
- 2.19| Test case Identification &=
2.4 Output specifications
- 2.19| Test case Identification &=
Environmental needs
PTSC| unit testE 9ot 2HEH

2TAE2 LSt 2L

IDE : Visual Studio
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2
1
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4 Unit test summary report
4.1  Test summary report identifier
<BUS&SUBWAY >

Identifier Result
PTS_UTC_000_000 Passed
PTS_UTC_000_001 Passed
PTS_UTC_000_002 Passed
PTS_UTC_000_003 Passed
PTS_UTC_000_004 Passed
PTS_UTC_000_005 Passed
PTS_UTC_000_006 Passed
PTS_UTC_000_007 Passed
PTS_UTC_000_008 Passed
PTS_UTC_000_009 Passed
PTS_UTC_000_010 Passed
PTS_UTC_000_011 Passed
PTS_UTC_001_000 Passed
PTS_UTC_001_001 Passed
PTS_UTC_001_002 Passed
PTS_UTC_001_003 Passed
PTS_UTC_001_004 Passed
PTS_UTC_001_005 Passed
PTS_UTC_001_006 Passed
PTS_UTC_001_007 Passed
PTS_UTC_001_008 Passed
PTS_UTC_001_009 Passed
PTS_UTC_001_010 Passed
PTS_UTC_001_011 Passed
PTS_UTC_001_012 Passed
PTS_UTC_001_013 Passed
PTS_UTC_001_014 Passed
PTS_UTC_001_015 Passed
PTS_UTC_001_016 Passed
PTS_UTC_002_000 Passed
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PTS_UTC_003_000 Passed
<Calculator>
|dentifier Result
PTS_UTC_004_000 Passed
PTS_UTC_005_000 Passed

1=

4.2  Evaluation

Total test case : 337

Passed : 337}

Failed : 07H
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